Article ID: 1000 - 8152(2002)03 - 0419 - 04

Linearization and Stability of Generalized One-Dimensional Delay Discrete Logistic Systems *

LIU Shutang^{1,3}, CHEN Guanrong² and DENG Feiqi¹

- (1. Department of Automatic Control Engineering, South China University of Technology Guangzhou, 510640, P. R. China;
 - 2. Department of Electronic Engineering, City University of Hong Kong, Hong Kong, P. R. China;
 - 3. Department of Mathematics, Binzhou Normal College. Shandong Binzhou, 256604, P. R. China)

Abstract: Linearization and stability of all solutions of the generalized one-dimensional delay discrete logistic system x_{n+1}

 $-\mu_n x_n + \sum_{i=1}^{n} \mu_{i,n} x_{n-\sigma_i}^{\alpha_{i,\sigma_i}} = 0$ are investigated. Some sufficient conditions for the stability of this equation are derived.

Key words: generalized delay discrete logistic system; linearization; stability

Document code: A

一维时滞离散广义 Logistic 系统的线性化和稳定性

刘树堂 陈关荣 邓飞其

(1. 华南理工大学自动控制系·广州,510640; 2. 香港城市大学电子工程系·香港; 3. 山东滨州师专·山东滨州,256604)

摘要: Logistic 系统是一经典的离散非线性系统,它的混沌,以及混沌的各种控制和其它渐近性质已经有了大

量的研究,本文主要研究了一类更为广泛的一维时滞离散 Logistic 系统 $x_{n+1} - \mu_n x_n + \sum_{i=1}^n \mu_{i,n} x_{n-\sigma_i}^{\sigma_i} = 0$ 的线性化和稳定性,得到了系统所有解稳定的一些充分条件.

关键词:时滞离散广义 Logistic 系统; 线性化; 稳定性

1 Introduction

In recent years, there have been a lot of studies on the dynamical properties such as chaos and synchronization as well as other asymptotic behavior of the one-dimensional logistic system

$$x_{n+1} = \mu x_n (1 - x_n) \tag{1.1}$$

and its continuous counterpart

$$\frac{\mathrm{d}x}{\mathrm{d}t} = x(t)[\mu(1-x(t))-1],$$

where $\mu \in \mathbb{R}$. Some results obtained in $[1 \sim 6]$ are collected in the book of Gyori and Ladas^[1].

In this paper, we consider the generalized one-dimensional delay logistic system

$$x_{n+1} - \mu_n x_n + \sum_{i=1}^{u} \mu_{i,n} x_{n-\sigma_i}^{a_i} = 0,$$
 (E)

where $\mu_{i,n}$, μ_n , are positive real parameters, α_i are real numbers, σ_i are nonnegative integers, $i = 1, 2, \dots$, and

u is a positive integer, $i, j \in N_0 = \{0, 1, 2, \dots\}$.

When $\alpha_1 = 1$, $\mu_n = \mu$, $\mu_{1,n} = -\mu$, $\mu = 1$, $\sigma_1 = 0$, system (E) becomes (1.1). Let

$$\sigma = \max\{\sigma_i \mid 1 \le i \le u\} \text{ and } N_0 = \{0, 1, 2, \cdots\}.$$

Our aim in this paper is to establish some linearization results as well as some stability criteria for all the solutions of system (E).

Moreover, we need some concepts and notation. First, for a given function $\varphi(i)$ defined on $\Omega = \{-\sigma, -\sigma+1, \cdots, -1\}$, it is easy to construct a unique solution of system (E) by induction a sequence $\{x_i\}$, which equals $\varphi(i)$ on Ω and satisfies Eq. (E) for $i=0,1,2,\cdots$. Indeed, we can write Eq. (E) in the form

$$x_{n+1} = -\sum_{i=1}^{u} \mu_{i,n} x_{n-\sigma_i}^{a_i} + \mu_n x_n$$

and then use it to successively calculate

$$x_1, x_2, x_3, \cdots$$

Foundation item: supported by Hong Kong Competitive Earmarked Research Grant (9040565) and Natural Science Foundation from Shandong Province of China (Y98A02005)

Such a sequence is unique and is said to be a solution of Eq. (E) subject to the initial condition

$$x_i = \varphi(i), i \in \Omega.$$

Definition 1 A solution $\{x_n\}$ of (1.1) is said to be eventually positive (negative) if $x_n > 0$ (< 0) for all large enough n; it is said to be oscillatory if it is neither eventually positive nor eventually negative.

Definition 2 Eq. (E) is said to be γ -exponentially stable if, for any $\lambda > 0$ and $\omega > 1$, $|x_0| < \gamma$, such that

$$|x_n| \leq \omega |x_0| e^{-\lambda n}, n \in \Omega.$$

It is clear that Eq. (E) can be regarded as a discrete analog of the functional differential equation

$$x'(t) = \lambda x(t)((1 - x(t - \sigma)) - 1.$$
 (E₀)

Therefore, qualitative properties of Eq. (E) may provide useful information for this delay differential equation.

2 Linearization results of equation (E)

For $s \in N_0$ such that

$$s > n$$
, for all $n \in N_0$, (2.1)

let

$$C_{s} = \mu_{n}^{n+1-s} x_{s} + \left(\frac{1}{2} \sum_{i=1}^{u} \mu_{i,n} x_{n-\sigma_{i}}^{a_{i}}\right)^{s-n} + \left[-\left(\sum_{i=1}^{u} \mu_{i,n} + \mu_{n}\right) x_{n-\sigma}\right]^{s-n} - 2.$$

$$(2.2)$$

(2.2

The following result can be established based on (2.2):

Theoerm 1 Assume that (2.1) holds and that $\{x_n\}$ is an eventually positive solution of Eq. (E) with $0 < \mu_{i,n}, \mu_n \leq 1$. Then,

i) C_n is a monotone decreasing sequence in n, that is,

$$C_{n+1} \le C_n. \tag{2.3}$$

- ii) C_n is eventually positive, and $C_n \leq x_n$.
- iii) Eq. (E) reduces to the linear inequality

$$C_{n+1} - C_n \leqslant -\mu_n x_{n-\sigma}.$$

Proof i) From (2.2), we obtain

$$C_{n+1} = x_{n+1} + \frac{1}{2} \sum_{i=1}^{n} \mu_{i,n} x_{n-\sigma_i}^{a_i} - \left(\sum_{i=1}^{n} \mu_{i,n} + \mu_n \right) x_{n-\sigma} - 2,$$

(2.4)

$$C_n = \mu_n x_n + 1 + 1 - 2 = \mu_n x_n. \tag{2.5}$$

Since $x_n > 0$, we have

$$C_{n+1} - C_n =$$

$$\frac{1}{2} \sum_{i=1}^{u} \mu_{i,n} x_{n-\sigma_{i}}^{a_{i}} + x_{n+1} - \mu_{n} x_{n} - \left(\sum_{i=1}^{u} \mu_{i,n} + \mu_{n} \right) x_{n-\sigma} - 2 \le$$

$$\sum_{i=1}^{u} \mu_{i,n} x_{n-\sigma_i}^{a_{i-\sigma_i}} + x_{n+1} - \mu_n x_n - \left(\sum_{i=1}^{u} \mu_{i,n} + \mu_n\right) x_{n-\sigma} - 2 \le$$

$$\sum_{i=1}^{u} \mu_{i,n} x_{n^{i} - \sigma_{i}}^{\alpha_{i}} - \sum_{i=1}^{u} \mu_{i,n} x_{n^{i} - \sigma_{i}}^{\alpha_{i}} - \Big(\sum_{i=1}^{u} \mu_{i,n} + \mu_{n}\Big) x_{n-\sigma} - 2 \leqslant$$

 $-\mu_n x_{n-\sigma} \leq 0,$

that is, $C_{n+1} - C_n \le -\mu_n x_{n-\alpha} \le 0$.

ii) From (2.5), we immediately know that C_n is eventually positive. Note also that $0 < \mu_n < 1$. So we have

$$C_n = \mu_n x_n \leqslant x_n. \tag{2.6}$$

iii) Using the above C_{n+1} and C_n , we get the following linear inequality:

$$C_{n+1} - C_n + \mu_n x_{n-\sigma} \le 0. \tag{2.7}$$

The proof is thus completed

3 Stability of equation (E)

Theorem 2 Suppose that $\mu_{i,n} \leq \mu_{i,0}, \mu_n \leq \mu_0, i = 1, 2, \dots, u$ and

$$\mu_0 + \sum_{i=1}^{\mu} \mu_{i,0} \gamma^{a_i-1} < 1.$$
 (3.1)

If max $\{ | \psi_{-\sigma+1} |, \dots, | \psi_0 | \} \leq \gamma$, then the solution $\{ x_n \}_{-\sigma}^{\infty}$ of Eq. (E), determined by $x_i = \psi_i, \sigma + 1 \leq i \leq 0$, satisfies

$$|x_n| < \gamma e^{-n\lambda}, n \in \Omega,$$

where λ is some positive number.

Proof Assume that $\alpha_i \ge 0$, $i = 1, 2, \dots, u$, and let λ be a positive number such that

$$e^{\lambda} \left(\mu_0 + \sum_{i=1}^{n} \mu_{i,0} \gamma^{a_i-1} \right) < 1.$$
 (3.2)

First, note that Eq. (E) can be reduced to

$$x_{n+1} = \mu_n x_n - \sum_{i=1}^{u} \mu_{i,n} x_{n-\sigma_i}^{a_i}$$
 (3.3)

and that max $\{ | \psi_{-\sigma+1} |, \dots | \psi_0 | \leq \gamma \}$. Next, note that

$$|x_1|e^{\lambda} \leq e^{\lambda} (\mu_0 |x_0| + \sum_{i=1}^{u} \mu_{i,0} |x_{-i}^{a_i}|) \leq$$

$$\gamma e^{\lambda} \Big(\mu_0 + \sum_{i=1}^u \mu_{i,0} \gamma^{\alpha_i-1} \Big) < \gamma.$$

Thus, $|x_1| < \gamma e^{-\lambda}$.

Assume, by induction, that

$$|x_n|e^{n\lambda} < \gamma, n = 1, 2, \dots, m.$$

Then.

$$\mid x_{m+1} \mid e^{(m+1)\lambda} \leq$$

$$\begin{split} & e^{\lambda} e^{m\lambda} \Big(\mid \mu_{m-1} x_{m-1} \mid + \mid \sum_{i=1}^{u} \mu_{i,m-1} x_{m-1-\sigma_{i}}^{\sigma_{i}} \mid \Big) \leqslant \\ & e^{\lambda} e^{(m-1)\lambda} \Big(\mid \mu_{m-1} \mid \mid x_{m-1} \mid + \mid \sum_{i=1}^{u} \mu_{i,m-1} \mid \mid x_{m-1-\sigma_{i}} \mid \mid^{\sigma_{i}} \Big) \leqslant \\ & e^{\lambda} \Big(\mid \mu_{m-1} \mid \mid e^{(m-1)\lambda} x_{m-1} \mid + \mid + \mid \sum_{i=1}^{u} \mu_{i,m-1} \mid \mid e^{(m-1)\lambda} x_{m-1-\sigma_{i}} \mid \mid \mid x_{m-1-\sigma_{i}} \mid^{\sigma_{i}-1} \Big) \leqslant \\ & \gamma e^{\lambda} \Big(\mid \mu_{0} \mid + \mid \sum_{i=1}^{u} \mu_{i,0} \gamma^{\sigma_{i}-1} \Big) \leqslant \gamma \,, \end{split}$$

as required. The proof is thus completed.

Example Consider the equation

$$x_{n+1} - \frac{5}{e^2 + n} x_n + \frac{1}{e^2 (e^4 + n)} x_{n-1}^2 + \frac{1}{e^2} \left(\frac{5}{e^2 + n} - \frac{1}{e} - \frac{1}{e^n (e^4 + n)} \right) x_{n-2} = 0, n \in \Omega,$$
(3.4)

where
$$\mu_n = \frac{1}{e^2 + n}$$
, $\mu_{1,n} = \frac{1}{e^2(e^4 + n)}$, $\mu_{2,n} = \frac{1}{e^2} \left(\frac{5}{e^2 + n} - \frac{1}{e} - \frac{1}{e^n(e^4 + n)} \right)$, $\sigma_1 = 1$, $\sigma_2 = 2$, $\sigma_1 = 2$, $\sigma_2 = 1$, since $\mu_n \leq \frac{1}{e^2}$, $\mu_{1,n} \leq \frac{1}{e^6}$, $\mu_{2,n} \leq \frac{5}{e^4}$, and

$$\sum_{i=1}^{2} \mu_{0,i} \gamma^{\alpha_{i}-1} + \mu_{0} = \frac{1}{e^{6}} \gamma + \frac{5}{e^{4}} + \frac{1}{e^{2}} < 1$$
(3.5)

holds for $0 < \gamma < e^6(1 - \frac{5}{e^4} - \frac{1}{e^2})$. Thus, Theorem 2 asserts that if $\max \{|\psi_{-\sigma+1}|, \cdots, |\psi_0|\} \le \gamma < e^6$, then the solution $\{x_n\}$ of (3.4), determined by $x_i = \psi_i$, $-\sigma + 1 \le i \le 0$, will also satisfy $\lim_{n \to \infty} x_n = 0$. In fact, $x_n = \frac{1}{e^n}$ is one such solution of (3.4).

The following stability result follows from Theorem 2.

Theorem 3 Assume that one of the following two conditions is satisfied:

i) There exists a positive constant α_0 such that

$$\mu_n \ge \alpha_0 \text{ for } n \ge \sigma;$$
(3.6)

$$\sum_{i=1}^{\infty} \mu_i = \infty. \tag{3.7}$$

Then, every positive solution of Eq. (E) tends to zero as $n \to \infty$.

Proof It suffices to show that every eventually positive solution $\{x_n\}$ of Eq. (E) tends to zero as $n \to \infty$.

By Theorem 1, $\{C_n\}$ is eventually decreasing and positive. Hence,

$$\lim C_n = \eta \in \mathbb{R}^+, \qquad (3.8)$$

where $\mathbb{R}^+ = [0, \infty)$. Also by Theorem 1, it is easy to see that

$$C_{n+1} - C_n \le -\mu_n x_{n-\sigma}. \tag{3.9}$$

Taking n sufficiently large, and summing both sides of (3.9) from $n_1 \rightarrow \infty$, we get

$$\lim_{n \to \infty} \sum_{i=n_1}^{n} (C_{i+1} - C_i) \leq -\sum_{i=n_1}^{\infty} \mu_i x_{i-\sigma}. \quad (3.10)$$

Applying (3.8), we have

$$\eta - C_{n_1} \leqslant -\sum_{i=n}^{\infty} \mu_i x_{i-\sigma}. \tag{3.11}$$

Now, if (3.6) holds, then (3.11) implies that

$$\sum_{i=n_1}^{\infty} \mu_i x_{i-\sigma} < \infty.$$

Since $x_{i-\sigma}$ is a positive solution of Eq. (E), for $i \ge n_1$, by (3.11), we have

$$\lim_{n \to \infty} x_n = 0$$

The proof is completed when (3.7) holds.

Next we assume that (3.7) indeed holds. It follows from (3.11) that

$$\lim_{n\to\infty}\inf x_n = 0$$

Also by (2.5), $C_n = \mu_n x_n$, and in view of (3.8), $\eta = 0$.

We now claim that $\{x_n\}$ is a bounded sequence. Otherwise, there would exist a subsequence $\{x_{n_r}\}$ of $\{x_n\}$ such that

$$x_n = \max \{ x_{n-\sigma} \mid n \leqslant$$

$$n_r + \sigma$$
 for $r = 1, 2, \cdots$ and $\lim_{n \to \infty} x_{n_r} = \infty$.

By this, (2.5), and (3.7), we have

$$C_{n_r} = \mu_{n_r} x_{n_r} \rightarrow \infty \text{ as } r \rightarrow \infty,$$

which contradicts $\eta = 0$, leading to the claimed result.

Let $\lambda = \limsup_{n \to \infty} x_n$ and let $\{x_n\}$ be a subsequence of $\{x_n\}$ such that $\lim_{n \to \infty} x_n = \lambda$. Then, for sufficiently small $\epsilon > 0$ and sufficiently large s, it follows from (2.5) that

$$C_{n_{i}} = \mu_{n_{i}} x_{n_{i}}.$$

Taking a limit as $s \to \infty$ and using the fact that $\eta = 0$, we obtain $0 = \lambda \lim_{s \to \infty} \mu_{n_s}$. Since $\varepsilon > 0$ is arbitrary, we conclude that $\lambda = 0$. The proof is thus completed.

4 Conclusion

In this paper, we have investigated the linearization and stability of all solutions of the generalized one-dimensional delay discrete logistic system $x_{n+1} - \mu_n x_n +$ $\sum_{i=1}^{n} \mu_{i,n} x_{n-\sigma_i}^{a_i} = 0, \text{ and obtain some sufficient conditions}$ for this equation to be stable.

References

- [1] Kelley W G and Peterson A C. Difference Equations: an Introduction with Applications [M]. New York: Academic Press, 1991
- [2] Gyori I and Ladas G. Oscillation Theory of Delay Difference Equations with Applications [M]. Oxford Clarendon Press, 1991
- [3] Zhou Z and Zhang O O. Global attractivity of a nonautonomous Logistic difference equation with delay [J]. Computers with Applications, 1999, 38(9):57 - 64
- [4] Kocic V L J and Ladas G. Global attractivity in nonlinear delay difference equations [J]. Proc. of American Mathematical Society, 1995.115:1083 - 1088
- [5] Zhang B G and Liu S T. On the oscillation of two partial difference

- equations [J]. J. of Mathematical Analysis and Applications. 1997. 206:480 - 492
- [6] Ladas G. Philos Ch G and Sficas Y G. Sharp conditions for the oscillation for delay difference equations [J]. J. of Applied mathematics. 1989.2(3):101 - 112

本文作者简介

刘树堂 华南理工大学博士生、教授, Americal Mathematical Society 会员, American Mathematical Reviews 评论员, 主要研究方向是泛函 偏差分方程的定性理论与控制,涉猎稳定性,振动性,非线性空间动 力系统,空间混沌,空间周期轨道,空间混沌的同步控制和其它控制 方法,空间混沌的应用及分岔等领域.

陈关荣 1948 年生、博士、教授、IEFE Fellow、任 IEEE Transactions on Circuits and Systems 编辑委员(1993~1995;1999~2001)和《控制理 论与应用)编辑委员、现任 IEFE Circuits and Systems Society Magazine 荣誉主编及其非线性技术委员会主任,主要研究方向是现代非线性 动力系统控制理论,方法及其应用,并广泛涉及相关研究领域.

邓飞其 见本刊 2002 年第1 期第108 页.

更名启示
《基础自动化》杂志于 2002 年 5 月 20 日起更名为《控制工程》.
原双月出刊,改为单月出刊;原每期 64 页,增加到 96 页.
编辑部原电话、地址、邮编、E-mail 均不变.
欢迎广大读者订阅、投稿、发布广告信息.